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Answer any FIVE of the following questions:-(5x15=75)

1.

Explain structural model.
SIMIOLIL] (OB 2_[HOUBID eNHHID H([Hb.

From the following data estimate ‘d’ statistic and test for autocorrelation
Carpsbai L Usitell  elleugmisefled®mbas  Lidussr  eurl geilenr  ‘d’
Canpemeienl LWLBHSH S 601 QHTLITL FlHdHe0 2 6I6eMHT  6T6iml

CamaildHa Ddls.
e = 06, 19, -18, -2.7, -29, 14, 33, 0.3, 08, 23, -14, -11
(given d_=1.45 and d, = 1.65)

The estimated model is ¥= -0.28 + 0.91X; . Examine the existence of
heteroscedasticity using Spearman’s rank correlation test.

HITG G’ wrdHfl  Fwoeurliger  cpeold  eroLIWTGeNeT  HiT
afleng CarmHemensnwl LWRILGEHS FLOBM LITODHMU  H6wlbd (Hb.

Find out the reduced form of the Keynesian model.
&6ien6il  HEMMBBBLILL L 2 _(HoBHHNDH BH6WILN3lHb.
I. Ci=a+p Yi+ U
i. Yi=Ci+l

Find the Identification state of the model
L@ HUIGST 96 L WreT Bleoeven s HeTL Ble LD

Demand equation Gseneu FioesTiim(®:
Qu:ao+arPrtuy

Supply equation oy flLiy sweLT®:
Qs : b + biPe+ bowi + v

Qd=Qs

Explain the properties of dummy variable.
Gumed) aPluileT LiesTLEear aierd .



7. Using the following residuals, estimate Durbin Watson d-statistic and test
for autocorrelation given d, =1.00 , d, =1.25.
Yareumpd CsssLilempll LuaTL®SS), Liler eurl et d -yeraflealeosgams
LG ESeT wYpid Csr®ssiiu’ . d, =100 , d,=1250wear®$S
Saiay/L_evr G)mLgiy O rL_fLlenest CFn®ssayLb.

e 0. 0.
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